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10.4-10.5 Review S UITCASE REVIEW!!!!

1. Estimate the area of the irregular shape.
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2. Find the area and perimeter of the polygon W|th vertices K(-2, 4), L(6, -2), M(4, -4)
and N(-4, 2).
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3. We are responsible for building a dog playpen and are using the grid below (in feet). The corner of
the play area are P(-3, 4), L(2, 6), A(2,1) and Y(-3, -1). We will fence in the playpen and cover the
entire area with astroturf.

a) What is the shape of the playpen? (Show Work!)
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b) How many feet of fencing should we purchase to keep the puppies inside the playpen?




4. The height of the rectangle is tripled. Describe the effect on the area.

1 C]
7ft

5. The base and height of the triangle with vertices P(2, 5), Q(2,1) and R(7, 1) are tripled.
Describe the effect on its area and perimeter.
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6. A square has a p"rlmeter of 36mm. If the area is multlplled by %2, what happens to the
side length? QW ,'
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change on the PERIMETER and AREA of the given figure.
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7. The base and height of the rectangle are both multiplied by ¥ . Describe the effect of each
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